TiERH :

S50-A

SR . TRIRH : MBS GAFEEE30*30%8cm

B : 1.00m°

ITHIBR B1u 2= BB = 5T
FESEE A A FasTE m? 1.00 1060[ 1060
TR m?3 0.04| 1250 50
MW TE m? 1.00 150 150
Z+ m? 1.00 30 30
IEESH7 m? 1.00 20 20
TE T H(EURERER) = 1.00 10 10
m* 1320 7T
TRREHE S50-B
sEg . TIRIEE : FEBO A FEEE30%30%10cm BEfi1 : 1.00m?
ITRIBR B1u 2= BB = 5T
FESEE A FasTE m? 1.00| 1500( 1500
TR m?3 0.04| 1250 50
MW TE m? 1.00 150 150
Z+ m? 1.00 30 30
IEESH7 m? 1.00 20 20
TE T H(EUERER) = 1.00 10 10
m* 1760 7T
TREHE S50-C
segy . TiRIER : FIEAD A FEEE30%18*10cm BEfi1 : 1.00m?
ITHIBR B1u = BB = 5T
FESEE A A FrasTE m? 1.00| 1500( 1500
TR m?3 0.04| 1250 50
MW TE m? 1.00 150 150
B2+ m? 1.00 30 30
IEESH7 m? 1.00 20 20
TE T H(EUERER) = 1.00 10 10
m* 1760 7T
TRREHE S50-D
SR . Ti2IER  BEd 0 sAFEERE(ER15cm;H=15cm) BEfi7 : 1.00m?°
ITHIBR B = BB = 5T
FESEE VA A FasTE m? 1.00{ 3000{ 3000
TR m?3 0.04| 1250 50
MW TE m? 1.00 170 170
B2+ m? 1.00 30 30
IEESH7 m? 1.00 20 20
TE T H(EUERER) = 1.00 10 10
m* 3280 T




TERE : S50-E

sEg . TiRIER : BEAOGAFEEEI2*24*10cm BEfi7 : 1.00m?

THRIER HREE | B | HE | BE | AE | M
EER OGO TEERE m? 1.00] 2600{ 2600
TR m?> 0.04| 1250 50
HHTE m? 1.00 150 150
B+ m? 1.00 30 30
IEEH7 m? 1.00 20 20
S TR(EUERER) = 1.00 10 10

m° B B8 &t 2860 T




